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~ Instructions -

(i) All the questions are compulsory.

(ii) Marks ?Horted to the questions are indicated against them.

(iii) - Questions.from 1 fo 5 are objective type questions.

(iv) Internal choices have been provided for the questions from 6 to 23.

(v) Draw neat and clean labelled diagram wherever required. "y
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a1 W ey gfag . | | | y (1x6=6)

() T T p(x) R y = plx) 71 7T X~ 71 fargel AR
el &, T 9gUS p(x) B S I W@w wd | ?ua.
(@ 0 (o) 1 ‘ @
€ 2 @ 3

(i) 3 WR® T T ayx+byy+c;=0 TAT apx-+byy+c;=0 ?b‘l(!'cﬁ
@%ﬁﬂgﬁiEﬁ#&ﬁﬁgmgmﬁnﬁammﬁﬁﬂ; |

(a) wHRR | (b) Tt
(o whd (d) ¥ QP T
(iii) iR A a, a+d, a+2d, a+3d, ...... I AWE UE &
(@) a+(n-2)4d ' (b) a—(n+1)d
(©) a-(n-1)d @ a+(n-1)d

(iv) st AABC # DE||AB d2 CD = 4 941, EC = 59, BE = 7 94,
a9 DA &T |19 811 : | |
(a) 5.6 (b) 875%%

(©) 5.5 d) 653
) g Plx y) B ERE A0 T
@ FIFE. b T
© y*-x @ E-yox

(vi) afd sin2A=2sin A, ATABTAFE: .

(a) 0° 6) 30° %

C(c) 45° @ 60°
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Choose the correct option :

(i) The graph of y = p(x) for the polynomial p(x) intersects the
X — axis at two points, then the number of the zeroes of the
polynomial p(x) will be :

@ 0 o 1 B
© 2 )3

| (ii) If the pair of linear equations a,x+b,y+c,;=0 and azX+bay+c; =0
has a unique solution, then the lines represented by the pair of
equations will be :
(a) parallel (b) coincident
(c)’ intersecting (d) None of these

(i) General term of the Arithmetic Progression a, a+d, a+2d,

a+3d,...... is
(a) a+(n-24d (b) a—(n+1)d
(c) a—(n-1)d (d) a+(n-1)d

(iv) If in AABC, DE||AB and CD =4 ¢cm, EC = 5 cm, BE = 7 ¢m, then
the value of DA will be : '
(a) 5.6cm _ (b) 8.75cm
(c) 5.5cm - (d) "6.5cm

(v) Distance of the point P(x, y) frpm prigin is

(@) x* - y? (b) VxZ+ y?
(e) J¥E-% (d) vx? - y?-xy

(vi) Ifsin 2A = 2sin A, then the value of A'is : :
(@ o0° - (b) 30°
(c) 45° (d) 60°
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g2 Rao @M 4R | (1X6=8)
() R WP Bl § S W qenel @1 oFud Wi

LY
.......................................... BT 2 :
(i) TP QA gt W oARST FE AN VWP s
Yl bRy B | | .
(i) afe &N o e & ARwer & 79 I (0) 2 @ 99
(V) SR 1ol - 5,-1,3, 7, &1 W3R

). faigai (0, - 3) ik (4, - 7)®meﬁmams$m—ﬁgzﬁﬁ€w
(vi) < TE awg aﬁw, gt Y@ iR dfa van

ﬁwmméaﬁmmﬁmwﬁw@?ﬁ%l
Fill in the blanks :

() The ratio of any two corresponding sides in two equiangular
triangles. is always ........c.oocooveveereern, |

(i) Aline intersecting a circle at two points is called a

(ili) If the value of the discriminant of a quadratic equation is zero (0),
then the roots of the equation will be real and ...,
| (iv) Common difference of the érithmet'tc progression - 5, -1, 3, 7.....
(V) Co-ordinates of !hé mid-point of the line segment joininQ‘ the
points (0, - 3) and (4, - 7) will be ........coccvvviierrnne. . ‘L
(vi) The angle of ... of an object viewed, is the angle E‘i
formed by the line of sight with the horizontal when the object is
above the horizontal level.l
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1.3 W/ foRay (1x6=6)

() = pferl R MR WM &, W] IIETES W9 W I FA
1, Wl npfdt FEemd ¥ I

(i) =/ n @ & g B e § e n g & W 8

(i) 79 % el fig w et ¥, vt fig @ o areht foow @ iR
R 2

o

?

(iv) s‘rnﬂs,-s,5,-5,....qaam»:fnﬁ§|

(v) A =0° W cot A iy =i 2

(vi) q&i’@lﬁwaﬁsﬁ'@ﬁﬂwmé@ﬂém%ﬁgaﬁﬁmﬁ
e e e 2 |

Write True/False :

(i) Two figures which have the same shape, but are not necessarily
the same size, are called congruent figures. \
(i) A poly_nomia] of degree n has at most n zeroes,
(iii) The tangent at any point of a circle is paralle! to the radius through
the point bf contact.
(iv) Series 5,-5, 5, - 5, ..... is an arithmetic progression. L
(v} cotAis notdefinedfor A=0°

(vi) The line of sight is the line drawn from the eye of an observer to

the point in the object viewed by the observer.
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(1Xs¥s)

g4 WA WY T
w0~ (I) | | - ()
0 108 7 @) 3
(i) x2-3%F YRIFT F1 FH (b) (0,0) - % |

(i) —5x2+15x + 2% ! &1 ATl () 2

(iv) #ofdg & fdeie | (d) 1

(v) tan 45°+ cot 45° (e) 2°x3°

(i) secﬁemﬁn?e fy -3
(g) 23x 3

Match the correct column :

Column - (1) Column — (ll)
() 108 - - (@) 3
(i) Product of the zeroes of x> -3 (b) (0, 0)

(iii) Sum '0} the zeroes of — 5x® +15x +2  (c) 2

(iv) Co-ordinates of the origin | Cod) 1
(v) . tan 45° + cot 45° (e) 22x3® = -
IR L pw
(vi) sec?6-tan?0 fy -3 %
| (g) 23x 32 |
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U weg /918 § IR Afvrg (1X6=8)
() wwicR Aroh 5,3, 1,... B 10 wgi o AT fwe 22 |
(i) fa=gal A (-6, 10) 3k B (3, — 8) @) Sie™ A YEES B 2:7
I # ToRE W Fenf @ T Rig P T x — P
1 2 . .
(i) 7 <t oM Wy A 2 o -ﬁ
(iv) B rawe g @ w freads, R 3% W B oE F 0 2 D

v)

I 99 B T B g g e
ferema wievor ax? + bx + ¢ = 0 @ Rfrax &1 g3 iRy

(vi) 91 B amme &1 g3 iR

Answer in one word / sentence :

0
(i)
i)
(iv)
v)

(vi)

What is the sum of 10 terms of an arithmetic progression
5,8,1,..? |

What is the x — co-ordinate of the point P which divides the line
segment joining the points A (- 6,'10) and B (3, — 8) in the -ratio
2.7 internally?' | '

Are all the rectangles similar?

What is the formula for the length of an arc of a sector of a circle
with radius r and ang!e with degree measure 9'.-'"

Write the formula of the discriminant of the c;uadratic eqluation

ax?+bx +¢c=0.

Write the formula for the volume of the cylinder.
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96 @42075ﬁmgﬂm@r$w$mﬁwﬁml @
Express 42075 in terms of the product of Prime factors. - e
3ozt /OR '
Wt 4" W R A, SE n v wga e § S s & @
n & Hig Wé.m%ﬁ@a&ﬁsﬁ (0) W AT Erert 2 |
Consider the numbers 4", where n is a natural number. Check whether
there is any value of n for which 4" ends with the digit zero. |
w7 fgom 9gue X2 - 2x - 8 & Yw S P | | | @
Find the zeroes of the polynomial x? — 2x — 8.
| . g/ OR _
w fum e wm AR Ree et @ d iR R e
-3 3R 2 g}
Find a quadratic polynomial, the sum and product of whose zeroes are

- 3 and 2 respectively.

ug B TR 9t IR TR g A G Sareev faRay, s gt fAefia
@ HHR ¥ 8 | )
Write an example of a pair of linear equations in two vari.ables, such

that the lines represented by them are parallel lines.

’ Jizrar/OR
o 2, 2ok 2 A ge ax s A B e w7

NI : ALY
3x +2y =5, 2x— 3y = 7 W & &1 G | :

a1 by

On comparing the ratios ' b,
2

and 2, find out whether the lines
2

representing the pair of linear equations 3x + 2y =5, 2x -3y = 7 is

consistent or inconsistent.
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%9 it PR 5 BT X2 4 3x 4 1 = (x - 22 Roume wHT R W A @)

Check whether the equation x2 + 3x + 1 = (x — 2)2 is quadratic equation

| | E:u:
GNRHZ()H .

%mmﬁmmzxz—uw:ozﬁfaﬁ?ﬁmmwmaﬁmr

or not.

Find the value of the discriminant of the quadratic equation
2x2—4x + 3 =0.
9.10 99 WHR Avft @ 3141 ug s @Ry, Rrrer 11df ug 38 € 3R 164
9T 73 8} @
_Find the 31%! term of an AP, whoée 11" term is 38 and the 16" term
is 73.
Jar/OR
OF y2d 10 EAIEE QU] @1 AN S DI ot 5 | farew &
Find the sum of first 10 positive integers which are divisible by 5.
ﬁ.11 arg 6 A art T FealR W A W BT A A 40 R, afd
<t 7 AR A O 28 4.2 A A g AR )
A vertical pole of length 6 m casts a shadow 4 m long on the ground

and at the same time a tower casts a shadow 28 m long. ‘Find the

‘height of the tower. | |
: : LU
3ierar/OR | _
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yrpfa #, DE(IBC &1 AD s &g |

In the figure, DE||BC. Find AD.

y12 afk g A(6, 1), B (8,2), C(9,4) 3R D(p,s}w.wmaggaa%sﬁ&
mwﬁaﬁ,a’fpﬁmwaﬁﬁﬂnl ()
I the points A (6, 1), B (8, 2), C (9, 4) and D (p, 3) are the vertices of a
paréllelogram, taken in order, find the value of p. |

srerar/ OR

xumarwﬁemwﬁg%ﬁéwiﬂ?ﬁmmvﬁﬁﬁaﬁ (2;—_5)@?
2, 9)d Wl - E.%
Find the co-ordinétes of the point on the x - axis whi_t;h is equidistant

from the points (2, - 5) and (- 2, 9).
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P13 R sina=2 a’nanAzmmqtrﬁa?Faatﬁml

@
If sin A =— then find the value of tan A. ' | L
| - 3 /OR |
A wwBI Bt ABC %, ZA sik /B =@l &, i@t cos A = cos B,
Rig Ao f5 £A = /8B |
It in right angled triangle ABC, <A and £B are acute angles, where
Cos A = cos B, then prove that ZA = ZB. | |
514 5 Q. e a1 gu @ Rig P w @yl Y@ PQ@g O ¥ it areh &
¥ A g QW 59 yaR P § B 0Q = 1298, | PQ # T=TE T
AR | @)
Atangent PQ at a point P of a circle of radiﬁs 5 cm meets a line through
the centre O at a point Q so that OQ = 12 ¢m. Find the length of PQ.
| yerar/OR
fagm?{ Sl T g B By 9 59, N W T I W @
awré4ﬁ.1ﬂ.%lgﬁcﬁﬁ—m§maﬂm|
The length of a tangent from a point A at a dist:::ince of 5 cm from the
centre of the circle is 4 cm. Find the radius of the circle. |
915 aﬂﬁaﬁuqﬁaﬁﬁ—msaﬁﬁwsﬁiﬂ%la@fﬁaﬁwmaﬁ
i AR o O g W o @ | @)
The radii of two concentric circles are 5 ¢m and 3 cm. Find the length
of the chord of the Iérgér circle whicH touches the smaller circle. -
gerar/OR P
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917

af v# fig P9 O @ are) fred 9o W PA ok PB wef Yt wwee 80°
P B R g B, @ ZPOA T I | |
If tangents PA and PB frorﬁ a point P to a circle with centre O are
inclined to each other at an angle of 80°, then find AF’OA. |
ﬁwqﬁ.ﬁ.mﬁwgﬁﬁﬁmmmmﬁﬁwmﬁﬁﬂ
BT 30° 2 | |

Find the area of the sector of a circle with radius 4 cm and angle at the

Centre is 30°,

. gar/OR .
frear 21 14, arel U I P UG A9 BF G 60° B BT AR AT &1
AT B T ST B | : |
In a circle of radius 21 cm, an arc subtends an angle of 60° at the
centre. Find the length of the arc.
2 R 8 0% 1 ST 64 4498, & Wt vt @t e
waﬂwwéﬁwﬁwmmq@aﬂwwﬁﬁﬂm
Two cubes each of volume 64 c¢m? are joined’end to end. Find the

surface area of the resulting cuboid.

:ﬂrm/_'OH :
Waﬂwa@ﬂﬁwm@w‘é@a%mm%ﬁﬁaﬁwwﬁ

%amﬂ@.aﬁmm%mzﬁmélwmwaﬂwaHna%qﬁ
¥ s i - |

A solid is in the shape of a cone standing on a hemisphere with both

their radii being equal to 1 ¢m and the height of the cone is equal to its

radius. Find the volume of the solid in terms of m.

@

(2)

T
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W18 <oty R 3 - V5 1w omRi wem 21 | ®

Show that 3 — V5. is an irrational nun:lber. E‘%
Jgar/OR

a1 W a ok b ¥ UGR & f5 ax b= 120 @ HCF (3, b) =22, a
LCM (a, b) st ifdrg | |
Two numbers a and b are such that a x b = 120 and HCF (a, b) =
then find the LCM (a, b).
H19 oS R A wHER 22 - 7x + 6 = 0B A T AT (_3).
Find the roots of the equalion. 2x? — 7x + 6 = 0 by factorisation method.
arerar/ OR
S — kx(x - 2) + 6 = 0 % k @1 a1 ", o F 5 9D &Y
TR B |
Find the values of k so that the quadratic equation kx(x -2} + 6 = 0

has two'equal roots.

.20 -UF BA A a6 a2, T wWR g0 W @ gF ¥ | vl o 45 99, B
mwm@mﬁmmawaﬁzﬁaﬁawmm
AR | - | | @3)
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An umbrella has 8 ribs which are equally spaced. Assuming umbrella
to be a flat circle of radius 45 cm, find the area between the W0

consecutive ribs of the umbrella."
iy et

)
o)

| Jyar/OR

T g S et w1 A T SR R aRRY 22 A, 2

Find the area of a quadrant of a circle whose.circumference is 22 cm.
W21 & WRE BN A g91 BV B Hr ¥ 18 i 3fde & | 3% I HIRT

The larger of two supplementary angles exceeds the smaller by

18 degrees. Find them.

Jai/OR
WRaF FAGRT LA
x+3y=6
2x =3y =12
& gfeReneE Y 4 g S|

- Solve the pair of linear equations
X+3y=6 |
2X — 3}’ =12

by substitution method.

()
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H.22

9.23

aﬁ&harﬁﬁ%%ch%aﬁgaﬁg&nmwa{%a@m%ﬁa
%wﬁmaﬁﬂaﬁ@m%dﬁvmwamwmm?l I3
@ Ue-fig @ g0, wEt Og @1 Rrer oA @ gE 8, 8 WL B T A
SAE T B *
A tree breaks due to storm and the brokén’paﬂ bends so that the top
of the tree toughes the ground making an angle of 30° with it. The
distance belweén the foot of the tree to the point where the top touches
is 8 m. Find the height of the tree.

- yuar/OR |
W T P g B e Ry AT D G R B S 3
30° ok 45° ¥ | AR qor Rl @ 3 A A S W A, D T B <Arer
T P |

From a point on a bridge across a river, the angles of depression of

" the banks on opposite sides of the river are 30° and 45°, respectively. .

If the bridge is at a height of 3 m from the banks, find the width of the

rver. https://www.mpboardonline.com

Farg 220 A R IR AW 24 FA. A B o, o w S
60 WAL ok Frsar 8 §AL I TH I 9o IR B, | AR T
TR T & | T W BT EAAH S A, Tl R § 1 4Ad A e

@M ST 8 UT. BaT 81 (T = 3.14 Hifm)

A solid iron pole consists of a cylinder of height 220 cm and base

diameter 24 cm, which is surmounted by another cylinder of height
60 cm and base radius 8 cm. Find the mass of the pole, given that

1 cmd of iron has approximately 8 g mass. (Use 1 = 3.14) -

1)
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et/ OR
T B UFH O Ao D TP RR W TP AN WeaR e gl

W G T T 2| Ay o ) S 10 A # o smm @ B
359 2 @ T aRg 1 Wl g e s AT |

WAL
'-.".\“\3.:“‘.\\\“\ '

A wooden article was made by scooping out a hemisphere from each
end of a solid cylinder. If the height of the cylinder is 10 cm and its base

is of radius 3.5 cm, then find the total surface area of the article.

g
|
' https://www.mpboardonline.com
Whatsapp @ 9300930012
Send vour old paper & get 10/~ '!:%
FH [ A9 & AR 10 I O, L1
Pavtm or Google Pay &

1007-H1004-A Page 16,0 16

https://www.mpboardonline.com


https://www.mpboardonline.com/

